_———

| ®
i S AL BT

I-A -4
A , cf[ —7A ® LA-AVET-AY Tl
O A* 22 =X +l6-7 T A6+ 1
O =(Xrx92 o483

(A- A.LW =

{‘1 [o 1”7 [4/ 4/6] ";l(m)o of o's, 1 req. egecnuecton

Le =4l ool Xy et -
- 1 { , 3/“;1211 => §11=§_3‘;‘-I—&

'  (xen Soln ¢ _ .
Tz le o rea( 3Tt
$ 12> e 13 r e Tl o e[11 YT

PR A N

.CI-'.C?.:S c;=3—¢z

-3t

Cq_fj/qc;;nz a's 3-—-C.‘1-3/¢161=Z
i et S it/ DUl ¥ dd|
-3& : -3t
i e T Ll
3 FHE —~37 R
X{(#) = z,f-‘fﬁ]f

—



x2

1.8

1.6

1.4

1.2

0.8

0.6

0.4

0.2

7.8

1.5
x1




28.10) | Rl
’)E?[-: —5_]7< %0~ (1)

2 1

T B : . -
dct( = "5")«];"0 = L3-AN-2-2NF § apy

A +32-32-9+9320
st AS & 2 Axd,. 0

GABI= IR axeaymo -
i — = PN &)
*3r js “,31 =9 [22 ’ -c%l SYTC“I - :

Ty=-6x ™ 3= E‘L/;_\

ot Py
Geen Soln:  x(t)= ¢, f e+ thf,‘ ~27,']e"®

= c_.lf"‘,’] “h@vs] te[77]]

&(6) :[f{l= [BC.?' —:Cjzcaj[ =2 ™ B —3('—1 ""C-z ;-b %, R 2,"3@..,
e = %g Cy =4
¢, ~¥[ar3e]=9
Ci -"{I?’_Qct s
! &

" - S 10
Ml

l

Wl

—_—

| .,
xilz)= "% [?1 A {[‘:’3] t t[ﬁfH

xey= 13- [T

—— _



10 T T | |

.10

; 200 250
0 50 100 A 150

250 .r ; |

200

150

¥l

100

50




: §(8)=¢, 3"

P 2- » alt 0_@
_m_bldm._.‘ ,A' o 2 f—o—a—f— .
{ =Ai Fr-valad
— D ° ai_l,_ — — —
S8 8 b3

0 |

" Note , since A is uppen ﬁ{‘&nﬂwiaﬂ, we Can tead A's ,094} of
the dagonal. T, our case, A = 2o 2, 2.2

1 row o zenos => 1 =q.. <(gemvecton

ol ooo ~ o lpboe©O o a
e r 2 | o100 ] 3 o
ceor 0 |® | = §F o kst ls | == |1 =1
ceocsp | |° ' 3 ity 1 ¥ (i ' 5
gy o o oS a6d |y -

Oolbo 8 |0 & Slopoeo o o
cai108 [e Fix 1 2 bl e b 8
86 a1 & T =2 " ? col O |0 =2 ? o g

0260l |o "y seooa [ . !
S soala 060 a|o

: Gemerzd. Solutton -

T e, (f,? r‘f'z{-)ezt re, (3",3 + f:‘f,2 * z;.? ?Iljc_’“’

" S ——
R k. T &

y 3 a == Xt
reg (35085 25 47 515 5 e




| Problem 3 )
4

(=As A

]

* Sinee A is upper thianjula) we read A's of§ of the diagonal,
A=942.2.2

" Fund _eds fn ) =4

“ Regulpa i | = 1ose )|\ B = one ow o 0s. So dne vV
5 L L R e w of  Zeros, . re4. e
co6~2x10 |O L
- = e [+ I'___ o
o0 o a2 |,a 3; 8

o 6o o6

1 s
£ lemeralized | © ° 200 o = 3 g L
o ' >
Q
4]

g & =% D

ceoco-2|
aboo~¢
,'Fi'nd ev's Foe A=2
. L 1pe 0 o C
6 e o I B e o
o e oot |2 { &
© &6 o0 4 ‘; = ;
2
o
“> Genunalir@
2t oo o o o z | oo©e o ]
DK 08 8 1T U1 2 o) 7o) 6 b olo —t=lh
o oo I =l 3] 2 I o | =~ fz_' 1
pA Ll Nt 2 1 . 5 0 o - 5 4
Y o & e 0o oy { 1
e o o6 ad |l

2o oo |o

| -.° Genenal Saluh'm

1 v , N At
168 e § e e, (1,248 tY " wi 2™ ce (158, )e ™

re (£t +§§z')€_‘“ ” _




Problem 4 |
2

TPAT A=
o

* Since A (S é{‘l"ama,uﬂa/t A = 2222y

. Pmd ev’'s S;f1 /\ =2
& Ezjulam

© o2& &l p
A s O § 2 Rows oX> o's
Lo T - Tl I < T _
ahth il cas Qmﬂaulme\i
o o 0 O & 6
G Dj ]
{ [} ga
o)
o
!

":‘Cmmai(zec) s
oo 6o @] | —> no selwbion
oo T oo |6
o OO0l © o
C)OOD{ 4]

&6 6 o0l
[

L s o o0o00a | o -
QST oS | ?Z_ o
cool1o |6 | 2 )
e e L VID g
oo 6o 1o

Cin i X o - o
I = P

mf’m‘ﬁ ?—-z g 7 {z— D

I o

Fa]

)

| ° é:e/mvla.l Sofu,h"mq

5

[

Q

I
Q
O

[&]

?(t) = Q, ;,feab r e ;ngzt. "‘Ca(f;_,t .,.f:)c:zt

I

’?. 2 3 vt 2

L
+EL " # 7 ) 2




foblem S
734 A= Fola
oo

G

KR O O o0

°0 My
Oy~

o
o
(
=1

a S/ﬂCﬁ A s ﬁ”(amju.lm A =.2,22,2,2

* Find ev's $on A=2

L E!Ettq o &6 oo a =5
’ - s 0088 | SFOWSO/Z-MOS glvea
e o 0) O o \
= e 3 requlan  ev's
S8 O H o
L j
p S o '_, o] ‘_‘ 6
I B e =1 fvetd
o o 3 |
o o
[s)
L) .
lpaennlized
o © o o000 [ i t,[ e o000 3
7 ©oasd8gy |© > _flo ?z'oaooc} I _'>Ml
e 38 1o |o soluHev 20 0 B d Solafton
0a oo O 00 -a. ¢ o
e 08O |o (6 06 O [y
I R - e
* | o 00 > a - 2 o)
?31 oo -apo ‘ =D 53 = 8
0000 [ [p /
Ooboa (5 o
3 o
2 6
5/m:f7~4]1j, ?a 5]
6
|
Cevarzd Soluhion !
=g > F—a2
()= ¢ e + @ + —ax2
? ) 3 2§zé’ 63536
PN N 1 "V &> S X NES T P
3 3 3 s 43, * S, +§'3)C




®

==

,Ppoh\gm b

- =9 1 &0 &
f:-/}i A_‘ o—Yq oo O
& 6 “H G O

o O o*a.f
o 06 o ="

*Sinse A i frfzwg,ujm i ) ==h -y h sg =P
* Find n:ﬂu.lzu; ev Sen AZ4

o Joo o] » g ' .
- v 0 e A
oo SAHD s wsof 4 o rca. eV 3
O O ob o
oo o ail o e
e o 0 A 1D |
0

L’GWW g:‘: a

|

o

- 6 (020 o -
olpe © cf, 5 N oo o6 0 o =2 e
6 & 20T :,>? W) oooca ) Solwiten
2hans - : . cooa | |0
& O !
LDOOOO?'D op o & |0

'F}md ev's fon A3~

- | oobo

(e} _'__V \ =
DAY s = jmwof’os Iraa ey
© 067400 |o o
0 oo o] |0 ?l:o
0600 O |3 315
P

£ i o

_ > Cu./”p/‘aﬂl/)ﬂ.a 6.~ 000 o s ?Q: :
oo~aoo | © 3 o
G501 .
oo 000 o

}i® écc/n Sd/n"

g[r): Cl ;;Je-ﬁ’ﬁ rCziz‘e‘qtrT Cs(t;‘f_i_ f{:li)ehqt‘

== [ -t
+ Cl{ 53Ie ol ~ ‘f“CS ( 33 % % ;3‘2)6

—-—



r—-————

Ad

, Prob]&m /
: . F;nd the exact solution 1/6) = [,:]
I

2 F'r'o'm £

c, -r'
- C
?(0) z-;: = ) = Cl:.C?_:‘C;?‘Cq:CS:I
)
¢s ;

| sce)= §'le P B'e 0w (2, 50 e g e (g f M ) e




